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Abstract

Study on teaching function, mainly dealing
with math lessons of middle school

Hong, Gyeong—ho

Mathematics Education Major
Graduate School of Education, Cheju National University
Jeju, Korea

Supervised by Professor Hyun, Jin—oh

As the mathematical concept is not acquired from daily experiences but
conveyed mainly by math teachers, math teachers play a key role in the
early stage of math learning. One of the problems that most math teachers
have in teaching is to explain the functional concept to their learners.

This research aims at finding effective methods of teaching function in
middle school math classes, focused on the question of how learners can
be led to a better understanding of the functional concept.

In the main text, the functional concept is observed and the theoretical
backgrounds related to the concept of function are dealt with by observing
the changes to the national curricula. The 7th national curricula defines
function from the subordinate viewpoint considered classical, unlike its
previous one(the 6th). The 7th curricular also emphasizes the relationship
between function and dynamic, changeable phenomena. This conceptual
change would be thought of as one of the efforts that make learners
understand function more easily. Established researches concerning
teaching of the functional concept are also observed. From the
consequence of a synthetic observation of the established ones, it is
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concluded that what matters in the teaching of the functional concept is to
help learners have an exact understanding of the concept and teach them
function in connection with each grade's contents regarding function. The
established researches also emphasize a variety of expressions, a lot of
examples, and a relationship with daily life in a methodical respect.

This research introduces Problem—-based Teaching and Learning
(Wheatley, 1991) to the established researches. It suggests concrete
methods for an effective teaching of functional concept: various
expressions and lots of examples, new naming of function, relationships
with the real world, reconstruction of function learning through worksheets,
devices that can be used in order to develop the learners' ability to
interpret and draw graphs, and to comprehend the concept through error
correction. These methods were applied to the learners' learning.
Consequently, the research concludes that the learners were able to
understand the concept and showed the confidence in understanding the
principles through the _methods created by the researcher. The learners
showed interested in the concept of function and were willing to participate
in self-directed learning.

Based on the results of the research described above, some suggestions
can be made regarding teaching the functional notion.
First, teachers should select terms which can attract the learners' interest in
explaining the concept to them. Secondly, teachers should provide the
learners with suitable examples in order to confirm whether they understand
or not. Thirdly, teachers should prepare enough coordinate papers and
examples in oder to make up for the learner's poor ability to draw up and
interpret graphs. Teachers can also use worksheets to make the learners
think and solve problems for themselves. In addition, when teachers
compose worksheets, they should keep the worksheets simple so that
students obtain correct answers and therefore gain confidence. This is a
visualized technique for learners who didn't focus on or understand the
previous classes.
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